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No3+10.000| 0,000 0.50,  0.500 0000 o0
No.4 10. 000 0.50,  0.500 5000 R s y—k
No4+10.000| 10,100 0.50,  0.500] 5. 050
it 20. 100 10. 050 T
XK &k T i =B =

1. kiR A 2. KTy b (R L)

5 s | FE ¥ | sE% | EE KiREL 6 (K) &Y 6 (%)

(m) (m?) (m)

No.1+1.000]  1.000 0
No.1+10.000]  1.000]  1.000 0 0. 00
No. 2 1,000 1.000 0 0. 00
No2+10.000]  1.000]  1.000 0 0. 00
No3 1,000 1.000 0 0. 00
No3+10.000]  1.000]  1.000 2 2.00
No.4 1,000 1.000 2 2.00
No4+10.000]  1.000]  1.000 2 2.00

it 6 6.00




m E # KX I F 7 F O

EERE | 7FIH ER 1. BERBEKE (FFLE ¢ 150)
(m) (m)

0. 600 2 1.20 FHEKFERSEER

0. 900 1 0.90 B = 12.90 (m)
1. 800 0 0.00

2.100 0 0.00 FHEEERCER

4.500 0 0.00 H = 2.10 (m)

3 2.10 FHERER
L= 12.90 + 2.10

2. 7 4 L3 —#+(8-30)

BHEXO150mZEFERT 516, EQOFMMEAEIL

WrEiE a= 0.075 X 0.075 x T =
EREEROIESIMTEREIL0. 250 ) THEM D, BEHKENEHRE LREOHEREE
W A= 0. 250 - 0.018 = 0.232 (m)
HALEOEERED 15.00 (m) THH DT,
K3 V= 0.232 x 15.00 = 3.48 ()
KERSER

g =

[l

fof

]

BRHKE

= 15.00

0.018 (m?)

E

[Sa
(=]

(m)




A

" £

)

HFHE (ELE ¢ 150) (EETA M)

HHE
p: (=1 & oY AT EE
(m) (m?) (m)
No. 1+1. 000 0. 000 0
No. 1+10. 000 0.000 0.000 0 0.00
No. 2 0. 000 0.000 0 0.00
No.2+10. 000 0. 000 0.000 0 0.00
No.3 0. 000 0. 000 0 0.00
No.3+10. 000 2. 557 1.280 2 2.56
No.4 3.617 3.090 2 6.18
No.4+10. 000 3.830 3.720 2 1. 44
&t 6 16.18

10




WM E h & B O L
ErE+E0.30m
§
g
1.00m I 1.00m
<
1. 70m
DEHREEERE QEREETEEN
HHRMIZERER
AEiE .70 m x 200 m 3. 40
W SR EiE .00 m x 200 m x 2 = 4.00 m?
EhAtEEL 400 mw 3.40 1.18
X ML 1.00m x 2.00m DLEDEFEADES.

11




BavHyy—rIT H B &
56 A7Vt B R—54 > BT
Al S EE | F N & T oty [Eafi S | £ &9 BB  R& | F ¥ | @ i
(m) (m?) (m?) (m®) (m) (m) (m?) (m) (m) (m3) (m) (m) (m?)
No.3+10. 000 0.00 1.37 3.97 0.35 3.97
No.4 10. 00 9.42 8. 40 84.00 4.38 4.18 41.80] 0.29 0.32| 3.20] 4.38 4.18]  41.80
No.4+7. 579 71.58 0.00 4.1 35.70 0.00 2.19 16. 60 0.00 0.15 1.14 0.00 2.19 16. 60
&5t 0. 000 119.70 58. 40 4.34 58.40

[ARABETTIRFANSE




(Ut THERR]IFCBI E @ GKA)

MME| RE EAKHIFLE (m): $90 A || M E Bl FLE (m): ¢ 90
e T X (m) (m) V4D T |2@EE)| (K) (m) WAt T8 |5@E@e)| AR ER)
BEFETTXM
4.0 0.1 0.1 3.80 13 52.0 1.30 49.4 50.70
3.5 0.1 0.1 3.30 12 42.0 1.20 39.6 40.80
3.0 0.1 0.1 2.80 13 39.0 1.30 36.4 37.70
=1 38 || 1330 [ 380 | 1254 129.20
K ~ x
BHEAIL(KA) RETER
RUEE | £HE | BHE ‘ & i
(m) (m) (m) st (n)
Al 10. 40 3.69 4.85 1/2x( 3.69 + 4.85) x 10.40 44 41
A2 2.52 4.85 4.85 1/2x( 4.85 + 4.85) x 2.52 12.22
& it 56.63
| | |
10400 -
s6 70 1 |
W|HEL=4.0n N=13K L
S K Oﬁ'oﬁ.oﬁ.o 5. 68 -
AHEL=3. 5n N=12% = > 1%‘r‘34574'04}4-0%‘0%”4.0 40 4.04.0
S 35 35 O % g6 a5 35 38 i I
W|HEL=3.0m N=13F 453 ¥ 3080 AR S 4 {L}ﬁ - 3.5 3/5 3.5 3.5 E
| . t ¢ ¢ 3.0 3b(l)1300¢350{g% dRad :;:
~— 3.0 30 3.0 3.0
& 4*@ 4 o
LAl
2400 2700 5070
BEHE ()
3.5
\ BHBAIME




(Ul t#RtTA

REIEAL DY — T T B (RER

R | &K HAXBIFLE (m): 90 A || M E Bl FLE (m) : ¢ 90
T XA (m) m) | meat | 8 [mee)| (R (m) | mft | £8 [2@Es|EHAEEE)
BREXRTIXHE
2.0 0.1 0.1 105 | 075 14 280 | 140 | 147 | 105 26.60
&5t 14 28.0 1.40 14.7 10.5 26.60
ki Zn £
BHBEAL(RE) WAHER
Rk EWE| BHE g [k T ]E e
(m) (m) (m) z (m2) 12 0.3 1.5[N0.3+10
B1 7.58 0.00 1.55 1/2x 1.55 x 7.58 5,817 13 0.3 1.5|No.4
B2 10.00| 1.55 2.92 1/2%x( 1.55 4+ 2.92) x 10.00 22.35 0.6 3
At 28.122 THE 0.30 1.50
EERHIALRER. #E) i
FMEEHIZKVEE
HEARAIARE 1XK/2m2
N= 28.22 / 20 = 1411 = 14




HEEE TR BT TEME) B B I ¥ 2 it & &

s & | g g BOBALBIES (BHES)

“ B W@ FHEE H = (B @ FEYEE H = (B @ | FEYEE = | FHkmE % 2
(No.4+6.079) 11.6
No. 4 + 10.000 4.020 11.6 11.60 46.6
No. 5 10.400 10.6 11.10 1154
No. 5 + 1500 1.500 10.6 10.60 15.9

MR A S FICHBIEA TIT R EN D1 5mORBIEEE S
m md
& i 15.920 177.9




Ri5 THEHRMEO/2)

HHEARSBT

6754

GH=455.422
FH=457.770
11.6
7311 1971
3500 3811
750 2750 ‘ 2750 150
16p 16jp
500
W 0.674% 315004
. I R N O
= = — — —Hks ————
//
/
//
/
S | 2 /
= N y /
Y ; /
i 3 \\ /
2% /
N : ~ A /
b \ ///
- NN ~ ,
S 1] 7@ . /




Bz THEHENE2/2)

NO. 5

GH=457.267
FH=457.283

HHBEARST

7500

1623

3500

4000

750 2150

2150

750

500

3913

7
/




BET(RaVY)—+IE®E

B H I %

=
82

i oE

&

s = = P 3 SARiRA LT 215 (B 2 15)
“ B W@ FHEE H = (B @ FEYEE H = (B @ | FEYEE = | FHkmE % 2
No. 3 + 10.000 0.000 9.8 0.00 0.0
No. 4 10.000 2.4 6.10 61.0
No. 4 + 7.579 7.580 0.0 1.20 9.1
m 2em?
& i 17.580 70.1




Ri5 THEHRMEO/2)

BHEARST 9.8

A=9.8m2

NO. 3+10. 000
GH=458. 681
FH=458. 730
7000 895
3500 3500
750 2750 2750 750
1.500% i 1.500%

~_ 300,

(£B1.4n, m

(£80.3m, &E1.5m)




BiZzTHEHBHE2/2)

NO. 4
GH=453. 088
FH=458. 250
7061 1509
3500 ) 3561
750 2150 2750 750
3 3

BHEBEARSBT 2.4

ﬂ‘ 1.076% 1% 5004

(£80.3m, ®&E1.5m)




